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1. REE RS Q) O

(A7 - m M)
ol TRR214E 5 2 U4 TRR224F 5 2 P-4 TRR234E 5 2 T TRR2AME B 2 UM (| CPAk244F @l (AR
H H AR RiTAE 4R AT AT
7 = = 54, 848 94. 5% 52,516 95. 7% 51, 244 97. 6% 54,516 106. 4% 112, 500 103. 0%
e = Ji Al 17, 026 93. 8% 16, 083 94. 5% 15, 629 97. 2% 16, 790 107. 4% — —
(%) 31.0 30. 6 30.5 30.8 —
i 7 (4 il 2 37,783 95. 1% 36, 185 95. 8% 35, 388 97. 8% 37,133 104. 9% — —
(%) 68.9 68.9 69. 1 68. 1 —
-1 ¥ gl B 38 20. 5% 246 637. 6% 226 91. 8% 592 261. 5% 2, 400 111. 5%
(%) 0.1 0.5 0.4 1.1 2.1
-1 ES 4t I B 304 101. 3% 348 114. 5% 299 85. 9% 405 135. 4% — —
=1 ES sk # H 192 99. 0% 317 165. 1% 287 90. 5% 252 88. 1% — —
% W Gl B 150 51. 5% 277 184. 2% 239 86. 1% 745 311. 7% 2, 500 112. 6%
(%) 0.3 0.5 0.5 1.4 2.2
e 7l Gl B 1,028 3115.2% 192 18. 7% 103 53. 6% 90 88. 2% — —
¥ il # ES 860 148. 8% 222 25. 8% 3,115 1403. 2% 159 5. 1% — —
moE H M ) MR A -206 30. 4% 63 — -3, 024 — 245 — 1,000 —
3 % 7 # 74, 749 93. 4% 75,738 101. 3% 79, 020 104. 3% 76, 352 96. 6% — —
ol & PE sl 43,133 87. 3% 42, 646 98. 9% 40, 114 94. 1% 39, 725 99. 0% — —
IRRY 72 0 U3 (4 3)) MR (1) -5. 45 — 1.67 — -78. 42 — 6. 36 — 25.93 —
1 #% 4 7= v M & E (M) 1,118.16 — 1,091. 53 — 1, 026. 92 — 1,015. 25 — — —
H © & X £ ( % ) 56.5 — 55.6 — 50. 1 — 51.3 — — —
(A7 m M)
H 9 Al PH2IE 2 I TR22E 85 2 D01 TRL23E 5 2 11 TRRAE 52 IR (| PRt i (T4
HEEHICLI2F vy a o THr— 1,379 2,088 -244 2, 082 —
BEREFEHICLDI2T Y vy va - 70— -390 -3, 034 -1, 440 -1, 155 —
MBEHZEID2F Yy va - 70— 1, 387 -1, 232 175 -1, 277 —




2. B AR 5E B - REERIS
(1)7E L@ (W5 LaaEts) (A7 mA M)
o SRR 234E 55 2 M0 SRR 2448 25 2 DU TRk 244E E

7 A b KRS T4F b RiT4E 74 HI4ELE (748)
b = ke ¥ 26,287  —1,055 96. 1% 27, 189 902 103. 4% 56, 100
T v 7 7 ~ F=F E 13, 155 -853 93. 9% 13, 984 829 106. 3% 29, 700
1 M £ - ¥ 3,121 108 103. 6% 3,614 493 115. 8% 6, 900
7 2 2 k2 ES 7,108 320 104. 7% 8,131 1,022 114. 4% 16, 200
£ it ke ¥ 3, 885 340 109. 6% 3,949 64 101. 7% 8, 500
= %) 1t 1,911 330 120. 9% 1,963 52 102. 7% 4, 600
v s A v b M M % -4, 224 ~462 112. 3% -4, 316 -92 102. 2% -9, 400
= B 51,244  ~1,272 97. 6% 54,516 3,271 106. 4% 112, 500

(2) BHAFE (A7 mA M)

o SRR 234E 55 2 M0 SRR 2448 25 2 DU TRk 244E E

7 A b KRS T4F b RiT4E 74 HI4ELE (748)
b = ke ¥ 211 132 267.1% 687 475  324. 3% 1, 900
T v 7 7 ~ F=F E 516 -280 64. 8% 428 -88 82. 9% 1, 300
1 M £ - ¥ 546 35 106. 8% 721 175 132. 0% 1, 200
7 2 2 k2 ES 112 ~54 67. 5% 255 143 227. 8% 1, 000
£ it ke ¥ 325 55 120. 4% 130 -195 40. 1% 300
= %) 1t 121 35 140. 7% 101 -20 83. 6% 300
e At % H -1, 595 39 97. 6% -1, 579 16 99. 0% -3, 500
= B 239 -38 86. 1% 745 506 311.7% 2, 500




3. B AV M EEEREOSE IR
(1) shmsk
T RR2345 R4
(2o YRR NEE GG ] 551 DU 55 2 DU 55 3 U4 55 4 U2 234 ERRUES 5 2 U4
1A-34 4H-64 7TH—9/ 10A—-12A @ 1A—-34 48-64
S A K (A U R ) 267 263 262 255 255 252 247
e ko (M) 85. 8 83.9 96. 4 85. 1 351.2 85. 4 81.3
7E = Ji it RS 29. 3% 28. 9% 28. 9% 30. 4% 29. 4% 29. 8% 29. 0%
A 7 # = 29. 8% 30. 5% 28. 2% 30. 1% 29. 6% 29. 4% 29. 8%
(o1 Yook 2 S EEAEE ATAE L]
gbwm | KA A MK 97. 4% 109. 4% 112. 7% 99. 3% 104. 7% 114. 2% 103. 2%
B R T K 98. 1% 101. 5% 102. 1% 92. 2% 98. 8% 104. 4% 103. 0%
B W K 101. 4% 101. 4% 101. 4% 91. 6% 98. 9% 98. 9% 98. 9%
O AR R 102. 2% 106. 7% 106. 5% 93. 6% 102. 1% 101. 8% 98. 3%
£ 99. 7% 102. 7% 103. 2% 92. 7% 99. 5% 102. 9% 101. 0%
kE BOH A MR 95. 5% 103. 2% 108. 7% 95. 4% 100. 8% 106. 7% 100. 2%
B R M 96. 5% 97. 4% 100. 5% 90. 8% 96. 6% 101. 3% 100. 5%
BS 78 M 100. 0% 98. 3% 100. 7% 92. 2% 97. 9% 96. 8% 97. 5%
O AR 100. 1% 101. 4% 104. 0% 91. 5% 99. 3% 97. 6% 95. 3%
£ 98. 1% 98. 7% 101. 7% 91. 7% 97. 5% 99. 6% 98. 7%
E BOH A MR 102. 0% 106. 0% 103. 7% 104. 1% 103. 8% 107. 0% 102. 9%
B R M 101. 6% 104. 1% 101. 6% 101. 6% 102. 3% 103. 1% 102. 5%
BS 78 M 101. 3% 103. 2% 100. 7% 99. 4% 101. 1% 102. 2% 101. 4%
WO R 102. 1% 105. 2% 102. 5% 102. 2% 102. 9% 104. 4% 103. 1%
£ 101. 6% 104. 0% 101. 5% 101. 1% 102. 0% 103. 3% 102. 3%
R34 R4
[TAR EEIEHR] 551 U 55 2 U4 55 3 U4 554 DU Rk 234E 2 1 I 5 2 M-
1A-34 4H-64 7TH—9/ 10A—-124 @ 1A—-34 48-64
S A K (A U R ) 121 121 123 125 125 125 125
e ko (M) 20. 8 20.9 22. 4 23. 4 87.5 21.5 22.6
7E = Ji it RS 29. 8% 29. 8% 29. 9% 29. 8% 29. 8% 29. 1% 29. 4%
N 7 7 = 33. 4% 34. 0% 32. 5% 31. 8% 32. 9% 32. 7% 31. 9%
BE /7 05 | 2 B & B & K 94. 4% 95. 0% 101. 4% 97. 3% 97. 0% 99. 0% 106. 2%
BN O S 95. 3% 93. 8% 99. 8% 96. 0% 96. 2% 98. 1% 104. 1%
& OH 0 OAT F L 99. 1% 101. 3% 101. 5% 101. 4% 100. 8% 100. 9% 102. 0%
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3. BT AR

=

=

FHERDOZEIRITHR
(2) =@ b77 NEE
234 Pk 244F
(%m0 EeE) CERRUES ] 5 2 U4 5 3 Y- o5 4 U= Fpk234 55 1 DU -1 55 2 DU -1
1H—3H4 4H—6H TH—9A 10HA—12H ) 1H—3H4 4H—-6H
JE B R (4% Y R ) 44 43 44 45 45 45 46
T e bk om CfE M) 35.0 34.3 42. 8 33. 8 146. 0 35.3 35.5
i ivanit IECE S 46. 7% 48. 1% 46. 7% A7. 3% AT, 2% 46. 9% 47. 1%
A F i5y B 18. 3% 17. 7% 15. 6% 18. 7% 17. 4% 18. 4% 19. 0%
BE /7 )5 78 b & |l 4 kb 89. 6% 91. 6% 92. 5% 93. 6% 91. 8% 98. 7% 101. 8%
JE B R (4% Y R ) 96 98 99 99 99 99 100
e kom (A M) 19.7 20. 3 21.1 22.6 83.7 21.0 20.5
HEMNMES | &8 £ | i R 37. 8% 37. 6% 37. 3% 37. 2% 37. 4% 37. 9% 38. 4%
A F i5y e 41. 4% 40. 5% 40. 0% 37. 5% 39. 8% 39. 7% 40. 4%
BE /7 )5 78 b & |l 4 kb 94. 2% 96. 1% 96. 1% 101. 9% 97. 1% 105. 1% 103. 7%
JE B (4% U R ) 43 47 47 50 50 48 50
. e bk om CfE M) 9.6 10. 5 12. 4 11. 3 43.9 10. 9 10. 8
RN [ E R om 27 2% 26. 6% 27 % 27 3% 27 1% 27 1% 27. 2%
A F i5y e 39. 4% 39. 0% 36. 2% 38. 9% 38. 3% 39. 3% 40. 7%
BE /7 )5 78 b & |l 4 kb 89. 9% 96. 8% 96. 3% 98. 2% 95. 4% 109. 0% 103. 5%
(3) HENRSE
R34 R4
CRNIES 5 2 DU 55 3 01 55 4 041 TRR234E 51 P2 55 2 DU
1H—-3J 4H—-6J] TH—9A 10H—-12}M E 1H—-3} 4H—-6H
#® e i % ( i ) 16, 646 16, 640 18, 444 17, 757 69, 487 17, 800 18, 201
w8’ K «c - &= ) 884 735 957 968 3, b44 1, 082 1, 048
(4) FTNLFEE
FRR234E Pl 244F
[VyFEy RET VR OERZERT V] CRNIE S 55 2 U 55 3 U CRN S ] SRR 234F o451 A o5 2 -4
1H—3H4 4H—6H TH—9A 10H—12H i 1H—3H4 4H—6H
5 % O & WMo B R ) 31 31 31 31 31 32 32
S = e ( ) 6, 185 6, 185 6, 185 6, 185 6, 185 6, 320 6, 320
BE F & 7 v B £ B B % 74. 5% 78. 6% 86. 9% 84. 9% 81. 3% 82. 1% 82. 4%
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4. JEEREBIRI

R%244E 6 H 30 HBU/E
ERL244E
51 DU SR 55 2 0 = HA I 18 I
We | A7y Je-x7 | BENE B | A7 Je-x | BENEE D B |6 A SRR A7 v | ye-nt | BENE D HEW HIER

= A Y b N A Ik 271 1 =3 =2 =1l —4 -5 264 1 -3 | -15 | -17 254

H H N Hh I 21 -1 -1 -1 -1 19
R W HHh 1% 110 -1 -1 -1 -1 -2 107 e
£ [} H 5 82 -1 -1 81 -3 15 WARARE

[ii] H VN Hh I8 42 -1 -1 -1 -1 40
F C e 16 1 1 17 1 1 17
T ) £ 127 127 9 =1l 8 135
=R b= 125 125 8 -1 7 132
F C % 2 2 1 1 3
> = = % = 2 24 24 1 1 25
=R b= 14 14 1 1 15
F C % 10 10 10
¥ 2 7 = 9 9 9
7 = 7 = U v 15 -1 -1 -1 -1 13 -1 -1 14
=R b= 13 -1 -1 12 -1 -1 12
F C % 2 -1 -1 1 2
o v N — A % IR 11 2 2 5 5 18 15 15 26
B F J& £= 72 2 -3 -1 -1 -1 70 6 -3 3 75
= % N L XA b T v e 5 34 =1l =1l 33 1 1 35
ol E BN LY R NT o 5 R 13 2 2 15 2 2 15
=R b= 11 2 2 13 2 2 13
F C % 2 2 2
"5 & E N L o zx s T v & 50 =2 =2 2 2 50 1 -5 4 46
* e 51 N *a " £ 99 2 -2 2 -1 1 100 10 -4 6 105
Vy v F = v K X F N = 31 1 1 32 1 1 32
=R b= 30 1 1 31 1 1 31
F C & 1 1 1
& 5 756 8 -8 =3 =3 11 -5 ! 2 755 47 | =17 | -15 15 771
=R b= 723 7 -8 -3 —4 11 -4 —4 3 722 45 -17 -15 13 736
F C £ 33 1 1 -1 -1 33 2 2 35




